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. Give a complete definition: The matrices A and B are similar
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2. Forz =2+ 3i,and w = 3 - 2i, find i
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3. Find the eigenvalues of

1

@{‘23} e 23 - :
8 :? g A 0 -2x S| - (i~’k_) \3 (;2;—’})7 (;3}<5§J ©

O ~( % ] ‘ »

~(-2) (+2x 12745 oo

=(=2) (22422 45) Sewns couthl

PR o 7&“@.
A= A= —rd Ug-ze o ) 4 2.0

-
4. Diagonalize A by writing it as SDS-!, where D is a diagonal matrix.
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. 5. Prove a. or b.
a. The eigenvectors for distinct eigenvalues of a matrix are linearly independent
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b. A and AT have th lues. 9y s
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